Correction to Groups, Representations and Physics (2nd Edition)

- p. 69, line 7
Insert 6" at end of item (3), which should read

(3) orthogonality: kixg“)xgy)* = [g]o";

- p. 89, 2nd. line after Eq. (5.227)
D® = B, should be DW = B,

- p. 99, unnumbered equation after Eq. (6.8)
Add +0(¢?) at end of first line, as in the second line

- p- 99, unnumbered equation at bottom of page
There should be a 1/n! in the summation, i.e.

exp(—ipX) = > (—ip)" X" /n!

- p. 100, 2 lines before Eq. (6.10)
This is not exactly a mistake, but it would be better if R(¢)R(¢') were

replaced by R(¢')R(p), i.e. R(¢')R(p) = R+ ¢')

- p. 142, 4th line
The argument of U_,, should be 47 — 0, i.e.
Un(0) =U_,,(47 — 0)

- p. 171, Eq. (9.18)
The 0,5 should be g,3
(This correction may have already been made.)

- p. 232, unnumbered equation after Eq. (11.30) and last line of para-

graph

m should be replaced by mf. So the equation should read
0 :
28_25 = (—ivYy.V +mpB)y

= (—ia.V +mp)y
and the last line should read H = a..p + mp.

- p. 294, solution 1.7, third line
(4 5 6) should be replaced by (4 6 5)
That is, II(c) = (1 2 3)(4 6 5).



